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Qlven options;
(1) Absorpnon powar of partact black body is :
(@) Half (b) One (a) Infinite (d)Nonp of these
1(“) Theunitof slectromotive forcads |
(n) Volt (B)Nowton (&) Ealetron voit (d) Klowatt hour
(I} An slactric iron operate on a current of 15 amp; when connooctod to 120 volt powor
sourea. e resistance will be ]
() 0,125 ohms(b) 4 chma (c)ohms  (d) 1800 ohms
[{tv)  Isobaric changes in an ideal gas show that there is no changa In
() Volume (b)Pressure  (c) Temperature (d) Intemal energy
(v} Aphotocellis based on -
{a) Doppler effect (b)Comptonaffect  (c) Photo-electric effect

(d) None of these
(vi)  Quantum theory was presented by
(&) Bohr (b) Planck (€) Young {d) Rutherford
(vii)  The delay constant of a radioactive alemantis Inversely proportional to *
(a) Actlvity (b)Halfife () Mean kfe (d) Wave length
(Vi)  Lenzlaw is in sccordance with the law of consarvation of )
(0)Masgs (b)Charge  (c)Energy | (d) Momentum
{ix)  When the temperatum of solirce and  sink of a heat angine becomes equal, the
antropy of the system becomes,
(n)Zero (b) Samn (o) Minimum () Maximum
(x}  e/mofanelectron was detarminad by ;
(n) Faradny (h)yMilikan (o) Rutherford (d)J.J. Thomsan
(xl) resomble in propertiss with gamma rays,
(o) Aipha rays (b) Betarays (c)X-ruys (d) Cathode rays
() 122Fisequalto___
(@)5C (0) 265G (€)DOG () 80C
(i) Semmll currents can be detected by
(a)Armmeder (b) Voltmeter  (c) ohrmmeter (d) Galvanometor

{riv)  The photo slectic thireshohd frequency depas s upon :
(s)Valocity oflight (b ntensityofhight (e} Neture of @bl surfaue
(d)Allatthese

T ]

() Infrared () Farinfra red (c) visible
i) The nucleus conslets of )
(@) Protons and electrons (b) Protons and neutrona
() Electrons and neutrons (d) Neutrons only . @
xvi) Properesot ______ aresimilar lo the alpha particles,
(@) X-rays (0)Protons () Electrons (d) Neutrons O

Do the bands in & wirs sffect ts slectical jesistamcs? Exphsin.
The pressuro of air in an sutomobile tyre increases If the automobile is noved fur a
while, Explain,

; Explzin & cloged circult and an opon oiroult,

5 Define henry and describe siaf induction with the holp of a diagram,

The halflife of Radon Is 3,80 days. Whatwould ba its decay conetant?

Can two magnatic lens of force ever croos each other? Explain.

What happens to the capacitance of aparaliel plat capacitor, when the size of plates
Increases and distance between them decreases? /

Why the pair production process does not taka place in vacuum?

Q.10 Write any five application of laser,

Q.11 Agalvanometer of resistance 5 ohms gives a full scale doflaction with a current of 15
MmA. How would you convert it Into a voltmeter reading up 1o 1.5 volt?

A2 Both potential diffecence and electromotive force are measurad in volts, Are they
samo? Explain,

13 Why wo prefer meroury to be used In tharmomaters? Give five reasons,

Soctlon-C

{Dongriptive Answer)
ote!  Answer any TWO of the following questions, Each question carros 14(7+7) marks.
14 (@) State the basic postulates of special theory of relafivity and write the results
obtained with he help of this theory. .
(b)  Determine equivalent resstance of threa resistance which are connected in series
ard peratiol.
QA5 (a) Cxplain first law of hernodyssamics, How i can be applied In isobarlc and
Adinbatio proveases?
(b)  State andexplain Guaee's law.
Q.18  Writashart nates on any TWO of the following:
(i} Nuclear Fission (iiy Trarmsformer

(lIly Compton effect »(lv) Gnlvanomele




